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////7/7%****Cumulative incidence*****/////

**user written command, stcompet
**findit levels7
**st0059

************Non_ re I apse mo rta I i ty*******************

* event_relapse*
* 1, relapse, 2, death in remission, 3, censored

* ci_rel_year*

**************Cumu I at i ve i nc i denCe**********************

stset ci_rel_year, failure(event_relapse==2)
stcompet CI = ci Low = lo High = hi SE = se, competl(l)

* C1=0

replace ClI = 0 if _n==1 & event_relapsel=2

* Cl NRM  CI
sort _t event _relapse

list event _relapse Cl in 1/100

replace CI = . if event_relapsel=2

replace CI = CI[_n-1] if missing(Cl)

el 0 y 0
** N+l

count

set obs 5000

replace _t = 0 in 5000

replace CI = 0 in 5000

sort _t event _relapse

twoway line CI _t, connect(stairstep) Ipattern(solid) lwidth(thick) Icolor(black) /*

*/ title("") ytitle(Cumulative incidence of NRM, size(5)) xtitle(Years after transplant, size(5)) /*
*/ scheme(slcolor) ylabel(0(0.1)0.5, nogrid labs(4)) xlabel(0(2)10, labs(4))

translate @Graph CI_NRM.emf, trans(Graph2emf)

*graph save CI_NRM

*translate @Graph CI_NRM.tif, trans(Graph2tif)



log using Seminar2013 cmpr_nrm

set more off
list ci_rel _year event_relapse Cl Low High SE if event relapse==

log close
translate Seminar2013_cmpr_nrm.smcl Seminar2013_cmpr_nrm.txt

**dataset



////7/7%****Cumulative incidence*****/////

**user written command, stcompet
**findit levels7
**st0059

************Non_ re I apse mo rta I i ty*******************

* event_relapse*
* 1, relapse, 2, death in remission, 3, censored

* ci_rel_year*

**************Cumu I at i ve i nc i denCe**********************

tab abo_majormis

stset ci_rel_year, failure(event_relapse==2)

stcompet CI = ci Low = lo High = hi SE = se, competl(l) by(abo_majormis)

sort abo_majormis _t event_relapse
* CI=0

by abo_majormis: replace ClI = 0 if _n==1 & event_relapse!=2

* Cl NRM  CI
replace CI = . if event_relapsel=2

by abo_majormis: replace ClI = CI[_n-1] if missing(Cl)

el 0 y 0
** N+l

count

set obs 5000

replace _t = 0 in 5000

replace CI = 0 in 5000

replace abo_majormis = 0 in 5000

count

set obs 5001

replace _t = 0 in 5001
replace CI = 0 in 5001

replace abo_majormis = 1 in 5001



sort abo_majormis _t event_relapse

twoway line Cl _t if abo_majormis==1, connect(stairstep) lpattern(solid) Iwidth(thick) Icolor(black)
Il line CI _t if abo_majormis==0, connect(stairstep) lIpattern(solid) lwidth(thick) Icolor(gs9) /*
*/ title("") ytitle(Cumulative incidence of NRM, size(5)) xtitle(Years after transplant, size(5)) /*
*/ scheme(slcolor) ylabel(0(0.1)0.5, nogrid labs(4)) xlabel(0(2)10, labs(4)) /*

*/ legend(ring(0) position(1) cols(l) region(lwidth(none)) order(1 "Major mismatch™ 2 "Matched or minor
mismatch™) size(5))

translate @Graph CI_NRM2.emf, trans(Graph2emf)

log using Seminar2013_cmpr_nrm2

set more off

list ci_rel _year event_relapse ClI Low High SE if abo_majormis==0 & event_relapse==2
list ci_rel _year event_relapse Cl Low High SE if abo_majormis==1 & event_relapse==2
log close

translate Seminar2013_cmpr_nrm2.smcl Seminar2013_cmpr_nrm2.txt

**dataset

///-k** **-k///

*1. KM logrank

*2. Gray"s test - Stata R, EZR

**Stata Stata

*3. Point estimation

*1. KM logrank

sts test abo_majormis

*3. Point estimation
*Z value p value
gen Z = (pl - p2) / sgrt(sel*sel + se2*se2)



//7//*****Competing risk regression model/Fine and Gray"s model*****/////

**default function/command since Stata 11

stset ci_rel_year, failure(event_relapse==2)

stcrreg abo_majormis, compete(event_relapse==1)

** Cox model
**xxxMultivariate analyses*****
/1/*** ***///
/*
0-15, 16-39, 40-
F/M
donor, match, M to F, F to M
AML, ALL
standard, advanced
Donor, combination
Rel-BM
Rel-PB
UR-BM
UR-CB
MAC / RIC
GVHD prophylaxis CyA-based, Tac-based */

*patient age

tab pt_age groupl, missing
label list pt_age groupl label
*patient sex

tab pt_sex, missing

label list sex_label
*patient-donor sex mismatch
tab sex_mismatch2, missing
label list sex_mismatch2_label
*diagnosis

tab diagnosis2, missing

label list diagnosis2_label
*stage at transplant

tab stagel, missing

label list stagel label
*donor, source combination

tab sct_type, missing



label list sct_type label
*RIC/MAC

tab ric_mac, missing

*ric if 1

*GVHD prophylaxis

tab gvhd_pro2, missing
label list gvhd pro2_label

///***Cox analyses **x/[/
*stcox varl var2 var3

stset lyear, failure(event_os==1)

stcox abo_majormis

stcox abo_majormis stagel

* HR, SE, z, P value, HR  95%
/*

///*** ***///

* 1

tab pt_age groupl, missing
stcox pt_age groupl

stcox i.pt_age groupl

* 2, missing values

tab sex_mismatch2, missing

stcox i.sex_mismatch2

*Number of obs , complete dataset

stcox i.pt_age groupl

stcox i.pt_age groupl i.sex_mismatch2
/*Missing values 2

1. complete dataset missing <5%

2. missing

3. multiple imputation

*/

gen sex_mismatch2_dummy = sex_mismatch2

replace sex_mismatch2_dummy = 9 if sex_mismatch2==.
tab sex_mismatch2 sex_mismatch2_dummy

stcox i.sex_mismatch2_dummy

*Number of obs

* missing values dummy

foreach x of varlist stagel ric_mac gvhd_pro2 {



gen “x"_dummy = "x
replace “x"_dummy = 9 if “x"==.
}

*/

///*** ***///
*x complete dataset
stcox abo_majormis i.pt_age groupl pt_sex i.sex_mismatch2 diagnosis2 stagel i.sct_type ric_mac gvhd_pro2

*P value , backward selection, begin with full model

**

sw, pr(.05): stcox abo_majormis pt_sex diagnosis2 stagel ric_mac gvhd_pro2
**dummy variable (factor variable)
xi: sw, pr(.05): stcox abo_majormis (i.pt_age groupl) pt_sex (i.sex mismatch2) diagnosis2 stagel

(i.sct_type) ric_mac gvhd pro2

/*
*/

stcox abo_majormis i.pt_age groupl pt_sex i.sex_mismatch2 diagnosis2 stagel i.sct_type ric_mac gvhd_pro2

/*
-1

backward stepwise P

*/

*"*lockterml™

* stcox

xi: sw, lockterml pr(.05): stcox abo_majormis (i.pt_age groupl) pt_sex (i.sex_mismatch2) diagnosis2

stagel (i.sct_type) ric_mac gvhd_pro2

///***competing risk regression***///
xi: sw, lockterml pr(.05): stcrreg abo _majormis (i.pt_age groupl) pt sex (i.sex_mismatch2) diagnosis2

stagel (i.sct_type) ric_mac gvhd _pro2, compete(event_relapse==1)
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1177 /%%%** *xxxxkf[11/]

tab event_cgvhd

tab event_cgvhd, nolabel

count if cgvhd day==. & event_cgvhd==1

1111 ]%%%** Landmark *xxxxf[/1/
/* GVHD */

sum cgvhd_day, detail

centile cgvhd_day, centile(50(5)100)

/* */

*CcGVHD

gen cgvhd_tf = 1 if event_cgvhd==1

replace cgvhd_tf = 0 if event_cgvhd>=2 & event_cgvhd<=4
tab cgvhd_tf

* GVHD .

stset lyear, failure(event_os==1)

sts graph, by(cgvhd _tf) risktable

sts test cgvhd_tf

stcox cgvhd_tf

*100

sts graph if lday>=100 & lday<., by(cgvhd_tf) risktable
sts test cgvhd_tf if lday>=100 & lday<.

stcox cgvhd_tf if lday>=100 & lday<.

*Landmark

*Landmark day150

gen cgvhd_tf_150 = 1 if event_cgvhd==1 & cgvhd_day<=150
replace cgvhd tf 150 = 0 if event_cgvhd==1 & cgvhd_day>150
replace cgvhd_tf_150 = 0 if event_cgvhd>=2 & event_cgvhd<=4
tab cgvhd_tf_150 if lday>=150 & lday<.

stset lyear, failure(event_os==1)

sts graph if lday>=150 & lday<., by(cgvhd_tf_150) risktable
sts test cgvhd_tf 150 if lday>=150 & lday<.

stcox cgvhd _tf 150 if lday>=150 & lday<.

*Landmark day180
gen cgvhd_tf_180 = 1 if event_cgvhd==1 & cgvhd_day<=180
replace cgvhd_tf_180 = 0 if event_cgvhd==1 & cgvhd_day>180



replace cgvhd_tf_180 = 0 if event_cgvhd>=2 & event_cgvhd<=4
tab cgvhd_tf_180 if lday>=180 & lday<.

stset lyear, failure(event_os==1)

sts graph if lday>=180 & lday<., by(cgvhd_tf_180) risktable
sts test cgvhd_tf 180 if lday>=180 & lday<.

stcox cgvhd _tf 180 if lday>=180 & lday<.

VPR hdaaad **kxkxx ][] ]
* 120 CcGVHD

*

*cGVHD 1 0

*

*cGVHD 0-1 120 -1

/> */
* GVHD

sort id

*id()

stset lyear, failure(event_os==1) id(id)

stsplit cgvhd_splitl if event_cgvhd==1, at(0) after(time=ci_cgvhd_year)
gen cgvhd_split2 = 0 if event_cgvhd>=2 & event_cgvhd<=4

replace cgvhd_split2 = 0 if cgvhd_splitl==-1

1 if cgvhd_splitl==0

replace cgvhd_split2

*
N

sort id
list id event_cgvhd cgvhd_split2 _t0 _t in 1/20

* GVHD , KM 100

sts graph if lday>=100 & lday<., by(cgvhd_split2) risktable
stcox cgvhd split2 if lday>=100 & lday<.

*Cox

stcox cgvhd split2 if lday>=100 & lday<.

* cGVHD  outcome

* pt_age, pt_sex, diagnosis, stage3 (CR1/CR2 vs. others)

stcox cgvhd _split2 pt_age pt_sex diagnosis stage3 if lday>=100 & lday<.



1177 /%%%** *xxxxkf[11/]

tab event_agvhd24

tab event_agvhd24, nolabel

count if agvhd day==. & event_agvhd24==1

1111 ]%%%** Landmark ek IV 4
/* GVHD grade 2-4 */

sum agvhd_day, detail

centile agvhd day, centile(50(5)100)

/////7*****Landmark *xrx*xf[///

/*Landmark */

/*Landmark day60*/

gen agvhd _tf 60 = 1 if event_agvhd24==1 & agvhd_day<=60
replace agvhd_tf_60 = 0 if event_agvhd24==1 & agvhd_day>60
replace agvhd_tf_60 = 0 if event_agvhd24>=2 & event_agvhd24<=4
tab agvhd_tf 60 if lday>=60 & lday<.

stset lday, failure(event_os==1)
sts graph if lday>=60 & lday<., by(agvhd_tf 60) risktable
sts test agvhd_tf 60 if lday>=60 & lday<.

stcox agvhd_tf 60 if lday>=60 & lday<.
stcox agvhd_tf_60 pt_age pt_sex diagnosis stage3 if lday>=60 & lday<.

/////***** *****/////

* 60 aGVHD

*

*aGVHD 1 0

*

*aGVHD 0-1 60 -1

/* */

* GVHD

sort id

stset lday, failure(event_os==1) id(id)

stsplit agvhd24_splitl if event_agvhd24==1, at(0) after(time=ci_agvhd24)
gen agvhd24_split2 = 0 if event_agvhd24>=2 & event_agvhd24<=4

0 if agvhd24_splitl==-1

1 if agvhd24_splitl==0

replace agvhd24_split2

replace agvhd24_split2

sort id
list id event_agvhd24 agvhd24_split2 _t0 _t in 1/20



sts graph, by(agvhd24_split2) risktable
sts graph, by(agvhd24 split2) risktable xla(0 (10) 100) tmax(100)

stcox agvhd24_split2
stcox agvhd24 split2 pt_age pt_sex diagnosis stage3
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